DIRECTORATE OF SCHOOL EDUCATION
TAMILNADU

Class : XII
Time: 1.15 hrs
Total Marks: 240

12NPCB11 | NEET PRACTICE QUESTIONS
(2023-24) (TEST-11)

General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each
incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.
3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15 L bemapeem QUT@ET @6l f GellugyL

Q& MT6u0T L & LOIUWIITLY. 62 60T M) 60T (LD P 21 & &);60

1. Find the radius of curvature of convex surface | U @&memeveiley  @bhsmey  LIbLIGSeor
of a plano convex lens whose focal length 0.3 | S{eTelreorsl

m and refractive index of the material of the £y
lens is 1.5 A) L(u—f)
A)0.12m B)0.15m + £\
By £ ")
C)0.3m D) oo
)
03 IS @ellw sy WwmHmild eeflalleusey 9 f
6TevoT 1.5 Q&Moo FLG6m &ell Q6vedT & 6dT
GallurLiLesr 6UEMEITEY 2,755 601 £y
LS LILITEoTS D) L(u—f)
A)0.12 m B)0.15m _ _ .
3. The ratio of amount of scattering of two light
C)03m D) oo waves 1s 1 : 4 Then the ratio of their wave
length be.
2. A small object of length L lies along the
principle axis and at a distance u from a A) 1:2 B) V2:1
concave mirror of focal length fthe size of the
image would be. C) 1:\2 D) 1:1
1/2
A) L(uf_f> @m eefl  gemevsefler  eeflEFFEmeL
Sjeralledr NSGLID 1 : 4 eTevflev jeuadl@p sperfl
L<u+f )1/2 epeumIsGeT Qedeflall(hid  eeflulledr jemev
B) / Bermigefler &G meors)
o) L(“ijf A)1:2 B) V2:1
;oy C) 1:\2 D) 1:1
D 15 L7)
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4. A concave mirror of focal length f, is placed
at a distance of d from a convex lens of focal
length. f, A beam of light coming from infinity
and falling on the convex lens — concave mirror
combination returns to infinity. The distance d
must be equal to

A) £+,
B) —f +f,
C) 2f +,
D) —2f +f,
f Gallwl STyl Q& TevoT L 6(H
GWlWmguimeors f, &Gellwl Sy
Q&5 ITevoT L SN QeLeTF O [HIH S d
Q& Temevailev MeUSSLILIL(HeTema).
I mleurT Qs memnevalled (BB S QI(HLD
ep6rfl8: 85 M 6m M WITEOT S &N G 6V60TEIV -
Gulwumyg  @emeooruiley  LIL®H  Wevor(hLD

rFoleum Qg meamevallMm@ GQFeTMML d — 6T
L& LILITeTS

A) £+,
B) —f +f,
C) 21 +f,
D) -2f +f,

5. Find the value of angle of emergence from the
prism. Refraction index of the glass is V3

] 60°
A) 30° B) 45°
C) 90° D) 60°

V3 seflefevas 6y eT6ToT O\ &5 60T L
WU L&SH6r ell(hCasmeuoTlnmerdl (angle
of emergence) & 600185 (H) &.

] 60°
A) 30° B) 45°
C) 90° D) 60°

6. In an experiment to find focal length of a
concave mirror a graph is drawn between the
magnitude of u and v. The graph looks like.

A)

X

\'%

u—

B)

AN
/
C)VT k

u—

D)TJ

u—

u—

GSLWMY earmler Gallll STTD STawil
Grmgemeruiley u WMMID v — ulledr erevor
G185 6H 55 e L Gl alemLILLD
e TWLULGHCUTSI GUEM T LIL_LDITEOTS)
Q& T6ooTIY.(H &S GeU6voTL Ul G&HITMMLOMTETSI
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B)
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D)

[

7. Assertion : A concave mirror and convex lens
both have the same focal length in air. When
they are submerged in water they will have
same focal length.

Reason : The refractive index of water is
smaller than refractive index of air

A) Bothassertionandreasonare correct Reason
is correct explanation for Assertion.

B) Bothassertionandreasonarecorrect. Reason
is not correct explanation for assertion

C) Assertion wrong — Reason true
D) Both Assertion and reason are false

FaMml : @ GSLPIWMY HmID &GelQeveiTen
STHMlev emals&LILRWL CUTE Flo Gallw
STUD  Q&smeoor(heTersl. eumenm  Hiflev
eSS QF WD GUMEID CT Galll STTLD
QUMIGBMSI.

&myevorLD: Hfleor sperfl 6Ml6VE6V 6TE00T6O0T TEOTSI
sTmmler  epeflellevdey  eTeootemeoor el
&60MeY

A) FadHm WHMID &Tyeorld Fiflwmers).
SIJeoTd Smmmlmsmer  Frflumeor
alleng & Lh

B) ZaMMm LWMHMILD Smyevortd Fflulmers,
SMJeooTld  Famolmsmer  Frflumeor
lem& &L 3{6L6V

Q) Ba MM HAUMTETS STI6vorld &FiflGul

D) &aMMI LOMMILD SITF600TLD H6UMTEOTSI

8. A lens of large focal length and large aperture
is best suited as an objective of an astronomical
telescope since

A) A large aperture contributes to the quality
and visibility of images

B) A large area of the objective ensures better
light gathering power

C) A large aperture provides better resolution
D) All of the above

6UITeDT 1 LI 6L QB MeeVCHTEHH U6V
MAUSSLILIMBML QUTIHETHEG Q6veTH 6T
2He Gllwgnyn womHon AHs Semer
SlemellM&smeoT &I revorLD

A) QU SlemeTwimesTsl SJD  LOMMID
AwHs 05l Blemev Q& TeOTL
Hbhusens 2 _(IHEUMTE & 6USH 6V
LImISefl &R M.

B) QUITIHET(HES @6V 60T &\ 60T Qurfluw
SleneTulene| eefledasmemnmenl FMbHS
|6Tey 62 (TH 618560V L0 UL QFWaIH 6V
LmIseflea&H msal

Q) QuIflw siemeTwimenTgl SmbS LI 16 meor
2 (HUMHGHMSI

D) G Fa MUl |6M60TE &0

9. Two string P and Q of force constant K, and
K, (K, = K}/2) are stretched by a force of
equal magnitude. If energy stored in Q is E
then energy stored in P is.

A)E B) 2E

C) E/4 D) E/2
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(Ky = K./2) 61edtm Blemevuilev 2 eiTer K, LM mild
K, elleng wmmledl Q&meor P mmib Q
eTedTm @\evor(h SHUIMIGET &FLD 6T6vor LOGHLIL]
Q& mevor L elem & LLIMT6L @) (L8585 L1LI(H &) 60T M 60T.
Q allev CFUISEE MaUGSLILILL SLMHM6Y
E ereoflev P ullev GaFUllgs emeudhaLLLr L
SLMHMEVTETSI

A)E B) 2E

C)E/4 D) E/2

10. The mean distance between the atom of iron
is 3 x 107! m and interatomic force constant
for iron is 7N/m. The young modulus of
elasticity of Iron

A)2.33 x 10° N/m?
B)23.2 x 10" N/m?

C) 233 x 10" N/m?

D) 2.33 x 10" N/m?
@ (BLOL 60T 3|60 555565 & T 60 L LILILL
Fyngfl Qsmemeve] LW 3x10"m Sy GlLD.
G QLI 360185 EHSHH L Gl
QFweL(B allems wmMled 7 N/m erevfleb
@) (HLDLI BT WM& 60018 8 ) 60T LD ILITEOTS!

A) 2.33 x 10° N/m?

B)23.2 x 10" N/m?

C) 233 x 10" N/m?
D) 2.33 x 10" N/m?

11. If a spring extends by x on loading. Then
energy stored by the spring is (If T is tension
in the spring and K is spring constant)

A) T2/2x B) T*2K

C) 2x/T? D) 2T%x
SGmeTelley  e@armley Blewm  epetTml
QemeTH&SILGLEUTES x  SemelMm&

alflalemL&Bmal  eTeviley  &@HeT  aflevedlev
Crullggs  maISGHLILLL SLMHMEVTETSI
T ereoTUG &@eT ellevellel QFWELLI(RILD
@wellemnd LmHMILD K & e ellev Lomnledl)

A) T/2x B) T2/2K

C) 2x/T? D) 2T%/x

12. Assertion : steel is more elastic than rubber

Reason : under given deforming force steel is
deformed less than rubber

A) Both assertion and reason are correct
Reason is correct explanation for assertion

B) Both assertion and reason are correct.
Reason is not the correct explanation of
assertion

C) Assertion correct reason wrong

D) Both Assertion and reason wrong

G (D) @@L Juuemy el 5Hs
LS5 5 HeoTemn G\ &5 MT600TL_ Sl

&ITIJ600T LD 2 (Fh&HGMVEHGD  allens
QFWLL(HSSLILIMGLLGCLTSI @ @®LOL

JUUT il GemmeUTs 2 (H&EG 66Vl LD

A) Famml IOMMID &HTJeoord @ reoor(hGLD
FflLMeTgl.  &SMeord  FonMMIM&sTeor
Frflwmenr ellemg &0

B) MM LDMMIID &HMTyevorld @ reoor(hGLo
FlWmergl.  SMTIeorld  FoMmlMsEsmeor
Frflwmeor elleng a0 96v6V

C) FaMmI FlUIMETSI STI600TLD &H6UMTEOTSI

D) oMM LOMMILD &TFeoorld @) Feoor(hGLD
SHeUMTergl

13. The load verses elongation graph for four
wires of same material is shown in figure.
The thickest wire is represented by the line

N\
D
Load
u©H C
B
A
N
7
Elongation
Br_&
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A) OA B) OB

C) OC D) OD

G 2 GeuM&HLI  GILUMIHETITEVITET [HITETS
shlluler WS& UEB (load) QFWELLIEHILD
Gumal gMmU@D BL& nmmild Liehelmameor
aemIULLD ULSH6 STLLULLReTens.
@560 slgnermer &ShUllew GSMOILLIG LD
C&HITLITEOTSI

N\
D
Load
U@b C
B
A
N
e
Elongation
Br_&
A) OA B) OB
C)0oC D) OD

14. Find the decrease in volume of sample of
water from the following data Initial volume
= 1000 cm’. Initial pressure = 10°Nm > Final
pressure = 10°Nm2 Compressibility of water

=50 x 107" m*N!
A)-0.95 cm? B) 0.95 m3
C)-045m? D) -0.45 cm?

Br wrHuler &er  eTtalley  gmHUGID
Genmellemer  LleiTou(pld  SSeU6VS6r 60T
gliLemLulley  SGeTEHEHILLTL  (QLTLDL
L6 = 1000 cm® SLJIDL SWSHSWD =
105 Nm2 @mIH W& = 106Nm2  Bifledr
(P&ESH & = 50 x 1071 m2N-

A)-0.95 cm? B) 0.95 m3
C)-045m? D) -0.45 cm?

15. Two mercury drop each of radius r merge
to form a bigger drop. The surface energy
released is

A) 1.657%rS

B) 1.657r*S

C) 1.65xr’S

D) 1.65nrS

r QUL Q&Meorl @ueoor() UMHTF
sleflgem eernilemetorbag Quflu sieflwims
ToISHMmE. @nblshalley Qeueflal LD
LTLIL @bMmmedledT LG LILImeTs!

A) 1.652rS

B) 1.65nr’S

C) 1.65xnr’S

D) 1.65mrS

CHEMISTRY Q.No. 16 to 30

16. The dark purple of colour of KMnO,
disappears in the titration with oxalic acid
in acidic medium. The overall change in
the oxidation number of manganese in the
reaction is

A) 5

B) 1

C)7

D)2
|Lblev wl_asaj,@e;i_) gg.,és;rreﬁ]é_s _@4@6\)5@5
KMnO, &6mpFaIL 6T SIb LMI&HELD GUME!

& 2615M  BIMWD emmuld  ellemeruliley
INMTHIGETF 6T Bl&HET 8&HerNRCermm  6reor

INE
B) 1
C)7
D)2

17. While titrating dilute HCl solution with
aqueous NaOH which of the following will
not be required?

A) Burette and Porcelain tile

B) Pipette and distilled water
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C) Clamp and phenolphthalein

D) Bunsen burner and measuring cylinder

Bi&s HCl sl er NaOH SHenpgev
GFISHS STLUMT&HGLD CUMSI, §Lpd8600TL
6THS R60TM CHeMEULILIL TSI

A) NwQrL mmid Likismer &30

B) LILQLUL LommILD eumemev eulg B

Q) sseuadl LnmmILD L eoTmevLl g eS6oT

D) YetgFeor (LIl Wmmid ereflbh&

GLeme

18. A, B and C are thee biomolecules. The results
of the tests performed on them are given
below.

Compound molisch  Barfoed Biuret

Test Test Test
A Positive  Negative Negative
B. Positive  Positive = Negative
C. Negative Negative  Positive
A, B and C are respectively

A) A —Glucose B- Cellulose C- Albumin
B) A—Lactose B— Glucose C- Albumin
C) A—Lactose B— Glucose C- Alanine
D) A-—Lactose B- Fructose C- Alanine

A, B lnmmith C eTedTm 2 U FeLn6v & Sn MG 606
M6UES BLESLILILL CFTHM60T (LNLY 66T
GECL HTLILIL (He6iTeTeoT.

Lomedleq umyeum@® emuWw, L
G&m&em60T GFrgemneot GF M 60)60T
A umendlligel  QBSLIQ6N GQFSL L6
(+ve) (-ve) (-ve)
B. umerdL g6} Lmendl g6l QB&L 1.6l
C. QpBs&LIg6Y QB&HLIged LmerdiL g6l
A) A- B - C-
GEBCHTN QFLNBCEITEN | 6VL| LAl 6T
B) A- B- o=
VMECLIT GEBCHMeV  3jeuLdleor
C) A- B- Cc-
UMHBLIMN  GEBCHMEN  |6V60)60T60T
D) A- B- Cc-
LTS GLIT6N L& GLITer 9|6V 60)60T60T

19. In chromatography which of the following
statement is incorrect for Rf?

A)Rf Value depends on the
chromatography

type of

B) The value of Rf can not be more than one
C) Higher Rf value means higher adsorption

D) Rf value is dependent. on mobile phase

aueooreoorLILNflemas  wemmuiley  GBLpasevorL
6Th& FnMMI Rf 83 QILITMIGS S &6UMTEOTSHI?

A)Rf er &I  euevorevor LN flemss
e U6 alem&HemnWLl QUIMTMISS!

B) Rf 60T LOGILIL| spedTemdm 6l H&HIDMS
QG&HS (PYWg

QRf &1 WLHLUL SH&FEG0L CUTS
LUTLIL&S S6eUF&H6e0 AH &6 EL0D.

D) Rf &7 DHLIL| BSHIHLD Hl60r6V6mLD6DIWIL
QUTHSHSI&H

20. 10.0ml of 0.05M KMnO, solution was
consumed in a titration with 10.0ml of given
oxalic acid dihydrate solution. The amount
of given oxalic and solution is g/L.

A) 17.55
B) 15.75
C) 1575

D) 1755

QamO&sLLULerer 10 Wed  LQ&H
AHNME 9llev SHenpaswleor 10 LAl
60T Sjemayeitem  0.05M  KMnO, &emJ&ev
STLUTISSN6 2 MlepsliLn  CUTS
PL&HGD LIS ,8560mellds ) levs et
Blewm __ g/L.

A) 17.55

B) 15.75

C) 1575

D) 1755
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21. The normality of H,SO, in the solution
obtained on mixing 100 ml of 0.IM H, SO,
with 50 ml of 0.1 M NaOH. is N.

A)0.01
B) 0.001
C)0.1
D) 0.05

100 ml, 0.IM HSO, &enggeuLer 50 ml,
0.1 M NaOH &empggenev CFI&HEGLL GUMS
F L& GLD &6 [J&606V H_SO,-eor
BTl N

A) 0.01
B) 0.001
C) 01

D) 0.05

22. An alkali is titrated against an acid with
methyl orange as indicator, which of the
following is a correct combination

Base  acid

A) Weak Strong
B) Strong Strong
C) Weak Strong

D) Strong Strong

End point
Colourless to pink
Pinkish red to yellow
Yellow to pinkish red
Pink to colourless
R0 HTTHHOTFM L0608 8 6M [T VIL_60T
QLSS 6V LT EHG Bl D MBIG ML G600 U

LweTU®SSH &SIl UMisGL  Cums
GELDG600TL 6T[H G @)6m6vor &Il WIMeoTsI?

P96 Blemey
A) auedlemin euedlemln BIMLMHM &6 FF6060

ST gudlevld

GoDhs WEs  QAOGhS GerehFlauly
BImLD
B) eucllemin euedlemin @ emehFleuliLilev @b &S
P2 1055 LDEHF 6T BIMLD

Q) euedlemin euellemln DEHEFET BIMS S 0 [BIH S
GMHS W&EsS @ eTehFeuliL Blimid

D) auellemin euedlemin @ 6mehP eulILNedBHS!
T\F:Y: Ta\P:Y: BlIOLMHM 860 T&F60

23. Which one of the following are/s is a sulphide
ore

A) Azurite

B) Argentite
C) Magnetite
D) Pyrargyrite

GLEHETL HMSIH&16 FeoemL(h SHMSI
6TI?

A) QTQ60TeM L L
B) QLbS &L
C) GLO&6oTetIL L
D) e LIGTMeVTen &L

24. In which of the following functional group
isomerism is not possible?

A) Alcohols B) Aldehydes
C) Alkyl halides D) Cyanide
& LD & 856007 L 6Th & lem60TE Q& W6V

QBMTGHEHG LDMTHMIUILD HemnL WM.
A) S,60HAMITEY

B) 2560136000 ()
C) 3J6VEM &Y D TEn 6V (h)
D) &Fwleneor(h)

25. The compound having only primary hydrogen
atom is

A) Iso butane

B) 2, 3-dimethyl butene

C) Cyclohexane
D) Propyhe
e 1fl o 6v0T WL AL 83607 3| €501 & G 61T

L (GO Q& mevoTL. G&FJLOLD
A) 96FT Lu,l GL 6ot

B) -2,3 0L 3G em&H60 LWL Lo 6oT
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Q) auem6TW Qe & @& 60T

D) LG TLI6mLI6oT

26. The IUPAC name of Compound
C|H3 Cle—CHS
CH3—(|Z — CH,— CH,— CH— CH,

CH,-CH,

A) 2, 5-diethyl — 4-methyl hexane

B) 3, 3, 6 — tri methyl octane

C) 2,5, 6 — tri methyl octane

D) 3, 5 — dimethyl -6-ethyl heptane

GG QsTRH&EHUULB6TT  CFiLng S eor
IUPAC QW Wmgl?

C|H3 Cle—CH3
CH,—C — CH,— CH,— CH— CH,
I
CH,~CH,

A) 2,5-60L
Qam & GF 6ot

T & 60) 556V -4-1556m 56V

B) 3,3,6 — 1960 LG 6M &6V 21,8 GL_60T
Q) 2,5,6 -19.60)J OGN H6V 21,8 GL 60T

D) 3,5-6mL L& 6Mm &6V -6- 6T5H 6V QamLIGL 6T

27. The IUPAC name of the following compound
is

/

A) 5, 6 — diethyl -8- methyl dec-6-ene
B) 5, 6 — diethyl -3-methyl dec — 4-ene
C) 6-butyl -5- ethyl -3- methyl oct -4-ene

D) 4, 5 — diethyl -8-methyl dec — 6-ene

GLpE&SHe00TL GFTINGH 60T IUPAC QLIWF

/

A) 5,6-60)L 6T&H)6V -8-1056M 6V G\L_&5-6-FF 60T
B) 5,6—-60)L_ 6T&H\ 6V -3-108 600856V Gl L& -4-FF 60T

Q) 6-LIWLl emLey -5-aT&HH60 -3- LI5S 60
& L_-4-[TF 60T

D) 4,5-60)L 6T& &6V -8-105 60156V G\L_&>-6-FF 60T

28. How many ¢ and m bonds are there in the

molecule of tetracyano ethylene?
A) 96 and 9 B) 56 and 9nt
C) 96 and 7n D) 56 and 8w

QLLJTEFUICETIT 615 5 6560T 6T6dTm GF [J L0 & FH) 6V
(HHET 6 WMMID 7 LlemeoorliL&erT
D _GIT6IT60T?

A) 96 LOMMILD 97 B) 56 LOMMILD 9n
C) 96 LDMMILD 71 D) 56 LomMILD 8n

29. The correct decreasing order of priority for
the functional groups of organic compounds
in the IUPAC system of nomenclature is

A) ~COOH, ~SO,H, -CONH,, -CHO

B) —SO,H, -COOH, ~CONH,, ~CHO

C) -CHO, -COOH, -SO,H, -CONH,

D) ~CONH,, -CHO, ~SO,H, -COOH
IUPAC Quwifl(Ld (Wwenmuilev
GLLLuC b eter all6m60TF G &F LI 6V
QsT&H&efler Fiflwmer @mm@ eaulflend

A)—COOH, -SO,H, -CONH,, -CHO

B) —SO,H, -COOH, ~CONH,, ~CHO

C) -CHO, ~COOH, -SOH, ~CONH,

D) -CONH,, -CHO, —-SO,H, ~COOH
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30. Which of the following does not show
geometrical isomerism?

A) 1-4-dichloro — 1-pentene
B) 1,2-dichloro-1-pentene
C) 1,3-dichloro-1-pentene
D) 1,1-dichloro-1-pentene

GL&HeooTL. GFFLOMIGETIL allgal Wmmmluln
@e6vevTs GFFLOLD

A) 1,4- e L&GCaTmGIIT -1- G)LI60T LR 60T
B) 1,2- 60L& G6mm G IT-1-6 LI 60T Le60T
Q) 1,3- 0L &C6mmGrT-1-GLI60T L 60T

D) 1,1- emL&GemmGIim-1-G)LI60T L 60T

BIOLOGY (BOTANY) Q.No. 31 to 45

31. Assertion : Amensalism means interaction
between two organisms in which one 1is
benefitted and the other is neither benefitted
nor harmed.

Reason : Inhibition is achieved by the
allelopathic substances.

A) A and R true and R is correct explanation
for A.

B) A and R true and R is incorrect explanation
for A

C) A is true and R is false

D) A and R false

Fo DI : I|L0eoTEmedleruLd 6TEOTLIS)
@ueoor( 2 WIflesEp&sEHLGUW  BlHWLD
@enLF QEFwWevsserflev &(hH 2 udlrfl
@M &H&LILIL LT (oMM 2 ullifl erb Ll
LWENeTWD 3L aUFH e 3 6V6uSl
LT3 &8 LU B 6uS evemev

SITTeOTLD: @ L SHemL CouB LIQLITIHL SH6IT
SFIUUS [ (H&H&HLILUMHSH6V
BeOLLIQUMIS M.

A) FaHmI LDMMILD &TIevoTD @) Tevor(hLd &ifl.
SHITF6oor LD S MMM @& Fiflwimeot eflemg &0

G

B) SaMMI LOMMILD &MTI6voTLD @) Tevor(hiLd &ifl.
SITTE0TLD FaMMIM @& Fiflwimeot alemd &0
Srellevemev.

Q) BammI &FIfl. HITF6E0OTLD &H6UmI.

D) oMM LOMMIID &SHTJeoord @ revor(hL
SHeunl.

32. Match the following:
a) Orobanche - (1) Latex
b) Santalum - (i1) Epiphyte
c) Opuntia - (ii1) Total root parasite

d) Pepromia - (iv) Partial root parasite

a b c d

A) ii v iii i

B) iii v i il

C) i i 1i v

D) iv i il i
QUITHSH S &.

a) @FUIMBIG - (i) GeuL_L &6

b) GgevoTL6VID - (ii) QHTHMISHTEUTLD

o) euetedluam — (i) WG sl (H6vorevol]
d) QULIGTTLWIT - (iv) GeuryeumLd epL_(H6voT6vof|

a b C d

A) i iv ii il
B) i iv i il
O i i ii iv
D) v i il ii

33. Find out the correct statements

(1) Sarracenia is a insectivorous plant lives in
nitrogen deficient soil

(i1) Cyanobacterium Chlorella lives inside the
bryophyte Anthoceros
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(i11) An insect Phyllium frondosum appears like
a leaf.

(iv) Commensalism is an interaction between
two organisms in which one is benefitted
and other is neither benefitted nor harmed.

A) (1), (i1), (1ii)
B) (1), (iii), (iv)
C) (i), (iii), (iv)
D) (i) only
Frflwmeor sonmmleneorss &evorL M6l

() FTFFeof W SMTEUTLD 6MBTL_Q60T GMMHS

LDGOOTEOOT 16V GUIT(LDLD LL& &) U 6voTemml LD
STeUTLD

(i) NempGuimsemLIL_ 2 HBH TR & Jmendleor
2 LevGH ey FwGermumss e flulmr

GGETTRQILEVIT UTLDH M.

(iii) »LNevelWld  »LIgmeoor GLLTeVLD  eTesiln
LLEF @emeull GUTeTCM CHMTNITRMSI.

(iv) BLETEFMedled  eTedTLIS @@  Geumi
F M 6T IS EHE G @) 6mLWIeuTeT @) 6L &
QFWICVSHETITEY 6R60TMI LILIGHT Sj60_HMmS
LOMGMITETMI LILIGT 2{60)L_ 61560606V

A) (i), (i), (iii)

B) (i), (iii), (iv)

Q) (i), (i), (iv)
D) (i) only

34. A high density of elephant population area
can result in

A) Predation on one another
B) Mutualism
C) Intraspecific competition

D) Interspecific competition

10

P& ILTEHE Q&MevorL Ulmen eordserfleor
Fal LD gOLBSSILD ellemere]

A) 60T LOM G M ITEOTEM M Q& ITeoTmI

2_600TEsILN
B) @ (MG W] Bletrsv

O @55 FHMlarsSHnHHmLCW B&HWD
GuIrL1q

D) GeumiLiL L &\l 6ot MBI & 61l 6t L G UL

Bl& WD GUITLLY

35. In which of the following interactions both
partners are adversely affected?

A) Amensalism
B) Competition
C) Predation

D) Parasitism

eTeu@ld ~ 6ThHEH Q@LFQFUWL @B
o_udlifler g emeTu LD P &HIOMEL
UTH &R MSI?

A) oL0eoT&FmedleruLh
B) GUIML_IQ Uil &6y
Q) Q&TEOTMI 2_600TETVILD GUITLDEEME (LDEMM
D) 6pL_(h\600T600 | GUITLDEEM S (LO6D M
36. The term niche is coined by
A) Roswell Hill Johnson
B) Reiter
C) Haeckel
D) Misra

Qowev  eumdlLLd QEFMELEm6Y

2 (HeUMESHIWeUT

6T60TM

A) GImenQ6U6v Q6L S MedTE 60T
B) QuiLL[

Q) Qam&61&H6v

D) Wlervgm
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37. Transition Zone between two ecosystems is
A) Ecotope
B) Ecosystem
C) Echard

D) Ecotone

@ 7600T(h (GLPEVLNEDOTL_ VRIS EHSHE @)60)L Gl
& meoor 1L ()LD @&LDIBl6mev LD6woT L6VLlD

A) GDBIEN6L 36006
B) @LP6V LO6DOTL6VLD

Q) er&ammr()

D) @) 60L& @ Lp6V6emLOLIL]

38. Identify the correctly matched pair

I. Toxins - Ricin

II. Lectins - Codeine

III. Drugs - Vinblastin

IV. Alkaloids - Concanavalin A
A) I and II only

B) Il and IV only
C) I and III only
D) IT and IV only
FIIWITEOT () 60)600T8:606ITS &600T L 1) &
) BEF&HHET — eF&leor
) QeV&BETEHET — BT M6t L 60T
) LD@BSIGeT - ellerLilemmeruLg eor
V) D6VBEVITUIH 6T - &TeoT G 8 60TeU M0l 60T A
A) I lomoid Il GO
B) Il nmmuLd IV oL_(hLD
O I omoid N L (HLD

D) Il bmmid IV (LD
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39. Which of the following is

metabolites in plants

secondary

A) Peroxidase
B) Leucine
C) Vitamin A

D) Gums
LYeTeu(peuemaummIeT 678 STeumigerfley
ng)IJITI(DLb @U.GO:OTI_ITL'D Blenev eueTiFens
LIrmmLU GILIMIHeT

A) QLU e GL 6

B) aiu| & etr

C) emeuL_L LAledT A

D) L9 eor& 6T
40. Oligosaccharides contain

A) 1 - 10 sugar units

B) 2 - 10 sugar units

C) 3 — 10 sugar unit

D) 4 - 10 sugar units
@6NCHTFMEHHMT(H&H6T QLMMIIBLILIGI

A)1-10 FTHENT 3|6V 86T

B) 2— 10 FJ&&HN] |6V 56T

Q) 3-10 FISHEHMT 6V&SSH6T

D)4 - 10 FUHEHMNT 3|6V&S 6T

41. Match the following:

a) Starch - (1) glucose units

b) Cellulose - (i1) amylose

c¢) Chitin - (i) CH O,

d) hexose - (iv) mucopolysaccharide
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a b c d

A) (i) (1) (@v) (i)

B) () (i) (@(v) ()

O (@) () @@  (@(v)

D) (iv) (i) (i) (i)
QUIMTHSH S 5.

A) L& - (i) GEBEHCHITE 3|6V&SH6T
B) QFeuaGeumery - (i) emLnBeuITery
O ems&Ligeor - (i) CH,,0,

D) @am&G& mery
- (iv) Bw,&CasmUMedFmTH & T{H

a b C d
A) (i) (i) (iv) (i)
B) () @iy — @v) ()
Q Gy (i) (i) (iv)
D) (v) () (i) (i)
42. Identify the incorrect pair

1. Lactose - C,H.O

30752726
II. Raffinose - C,H,,0,,
II1. Stachyose - C,H,0,
I'V. Verbascose - C,H, O,

A) T and II only

B) Il and IV only

C)Iand IV only

D) III and IV only

SEUMITEOT @) 60)600TH 6068 & 600T LM 85

C,H.,O

l.eom&sGLmerv - C, H.,0,,

- C18H,,0

II. il Geormerv 50

12

c,H,,0

. evL_memam@uwimev - C,,H,,0,,

C.H.0O

IV. Qeuyumerv@uimery - C H,,0,,

A) I lomoid I (kL
B) Il bMmMILD IV I0L_(hILD
Q) I oMM IV L (bl
D) Il oD IV InL_(hLD

43. Statement 1 : Lipids are hydrophobic in
nature. So they can soluble in non-polar
solvents

Statement II : Ether is example of non-polar
solvents

A) Statement [ is correct , Statement II is
incorrect

B) Statement I and II are correct
C) StatementIisincorrect, Statement Il correct

D) Statement I -and II are incorrect

Faol | AUNbD&eT B Qeumis@GLld
ST WSTL @66l  SI[HeUMM
&HenJLILITeor8 6160 &6myu]Lh.

Gmm |l TS5 @B SGeUnm

&6 [JLILIIM60T MG LD
A) ool | Fifl Sammi Il Seum
B) S mmI | LDMMILD S Il &Il
0 Dy | HeuD ndHo Il &ifl
D) GaMMI | LDMHMILD FomO) || &6uml

44. Linus Pauling and Robert Corey both were
awarded Nobel prize because

A) They sequenced Insulin protein

B) They proposed the a-helix and B- sheet
secondary structures of proteins.

C) They explained denaturation of proteins

D) Thy isolate a non-protein substance
‘Nuclein’
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EM6VEOTEN &LIMEOIM Wmmild grufl. G&mifl

AHW  QuaBGsEGL  Cmmuey  Ufle

GULPMIGSLILIL L SMETE0T &ITIT600TLD

A) @) 60T&69 60T LTSS
alflemsFuB S WSDHEHTSH

B) LTS5 ) 61 @) T600TLITLD Blewev

LT  HHGFHFPO  DHMILD
55H ML (LN6T QLOMLEIH S5 mTev

Q) US55 6o @wievL] &fleor
16L& UG TeV
D) mlw,&6rfleor 6TEdTM LT&HL06V6VITS

QumeneT LNflH0 &M &S Moy
45. The term protein was coined by
A) Jonathan Singer
B) Benda
C) Linus Pauling
D) Gerardus Johannes Mulder
L @I ITL_L9 60T 6T60T M G & [T6L 6D 6V (LD 60T60) 61 & & 6) [T
A) GE3IT6OT TS 60T FIMRIG T
B) QLI6DOTLIT
C) eM6VEOTEN &LIMEOI Ml

D) QR2UmyLen GQmamImeorery (LAGVL [T

BIOLOGY (ZOOLOGY) Q.No. 46 to 60

46. Rate of heart beat is determined by
A) Purkinje fibres

B) Papillary muscles
C) AV-node
D) SA- node
@sw sl efsseng Grmeaflliug
A) T eredl @) 600860
B) umLiLNevevlf] Hen &g 6T
C) AV- &0

D) SA- &l

47. Observe the diagram given below and find
out in which part of the heart (A,B,C,D)
oxygen rich blood enters.

A)A
B)B
C)C
D)D

GG QEHEMHSHHLILIL(R6TET aIMILL S5
2IMWHS, QSWSHr hgU UGS Uil
(ABCD) Sp&eilegetr Mmlemmbs @IS
BlIeMLE M S 6T60TLIEN S 856007 L_IILLIGYLD.

A)A
B) B
OC

D) D
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48. During ventricular systole

A) Oxygenated blood is pumped into the
pulmonary artery and deoxygenated blood
is pumped into the pulmonary vein.

B) Oxygenated blood is pumped into the aorta
and deoxygenated blood is pumped into
the pulmonary vein

C) Oxygenated blood is pumped into the
pulmonary vein and deoxygenated blood is
pumped into the pulmonary artery.

D) Oxygenated blood is pumped into the aorta
and oxygenated blood is pumped into the
pulmonary artery.

QauaTL_flgevT FlenGLmedleT LIS

A) 24,86r01360T BlemIHS @) T& S0 Blem T 6L

SLoeoflud e e QENSSLUILOQSHMS!
LODID _Spseriigarmm
Q@udsh  Heoguiie  Flerh@er
QFNSHSILHH DG

B) o4,86rdlgge0r BlenmHS QUSSID
QUMb WU QFNSGSLILIGISRMSI
LOOD  WHlgeorHm  @QISSD
Blenguigev Fen g ullsser
QEISSLILGS DS

O) op&efiger  Blombhs  @TSSHL0
Blengufrev Fennguilev
QFNGHSILOS M L0 D DIh

pGallgarmn @rssn menguiye
SN & G QFGESLILGR M

D) &y, 6rdlgg60r Blenmbs
@UssLh QUGBS0 6oTUN g6
QFENSSILHE S LDMHOILD
H0QaT  Bloowhs  @UHSID
Blenguigev SLoeoflulev
QFNSHSILHE DS

49. Identify the correct sequence of cardiac cycle

a) Blood through the pulmonary vein and vena
cava enters in left and right atrium respectively

b) AV node generates action potential for
ventricles
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c) SA node brings about atrial systole

d) Ventricular systole pushes blood away from
the heart

A)a—b—-oc—d
B)a—sc—>b—d
C)c—a—b—d

D)c—>d—b—a

@Q5W QWESEF Spm&lufer  Fifluimer
aUflenF el 3JemLWITETLD &IT6oTe)LD

a) BlenTuiTeL Flem T LDMMILD G LI(HEHTF) 6™ 56T
aflung QUss (PemEW @)L &I nmmIDh
alevgl gL lwg &6 BienLp&H MG

b)AV &l QU6 155 685 61h & 85 TeoT
QT WLI6L HMEM6IT 2_(HEUTEHGHH M S

SA e glifluey  HlervCLTemevs:
2 (HUTESHR M

d) QeuetL_flgevr FleruCL M6V
Q5WHHNGHI QUSHSHHMG
QeuerfGwMMIS M

A)a—>b—oc—d
B)a—c—b—d
C)c—a—b—d

D)c—>d—b—a

50.0n the ECG recording the maximum
ventricular pressure would be

A) At QRS complex
B) At T wave
C) Between QRS complex and T wave

D) Between P and QRS complex
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ECG uBalley HsLULE QeusTLflGeurd
WSS S&mevor LiLI(h6eUgl

A) QRS FnL_LemloLIL60
B) T &emeuuilev

Q) QRS Gal LemUIM@&GID T emevs @Gl
@ emLullev

D)P wmmih QRS Fal LemlIlme
@emLuilev

51. Assertion (A) : Ventricular systole precedes
the atrial systole.

Reason (R ): The cardiac impulse passes
relatively fast across the AV node.

A) If both assertion and reason are true and
the reason is a correct explanation of the
assertion.

B) If both assertion and reason are true but
reason is not a correct explanation of the
assertion

C) If assertion is true but the reason is false.

D) If both assertion and reason are false.

Fahm  (A):  QelerLflged FleuGLmev
gL ifluev FleCLMTYV & & (LP6OTGLI
Bl&L&E S
&SMJeoorld (R) : @&HUWSH SMeooT(Hi&H6L AV & ool
(WDWaISILD LT L emadley GeausLIOMS
LTS mal.

A) SaMml LOMMID &HTFeorld @ revor(hGLo
FflWmergl. &MIeoTld oMM meor
Frflwmeor ellemgasLD

B) ZaMm LOMMIID &HMFevorld @ evor(hGLo
FflWmenrs. &MTyeoTld  SaMmmlmamer
Frflwmer edlem& &I 3606V

Q) oMM FflWIMeTSl &MTI6OTLD &6UMTerS

D) oMM LOMMILD &TFevorld @) revor(hGLD
SHelMTergl

52. Find the proper option for P,Q,R,S labelled
part in the diagram

A) P — Obtained blood from Left ventricle
B) Q — give blood to Left ventricle
C) R — Obtained blood from Left Auricle

D) S — give blood to Right Auricle

alemIULSH PQRS eteor Quuwiifl il
Frflwimeor

L& & & 5 meor aflemL_emnuls

&600T LMWl LD.

AP - @L& Qeerliflea&Hefedmba
QUSHSH505 QLRSI

B)Q - QL& QeaueT fl&EHEhHE @IHHD
Q&ETHSHRMSI

OR- QL& f&Hefle @mhHg QIsHsD
QUMUIUGSRMmSI

D)S - aeg RBI&EHEHHEE QQUsHHD
QETHSHRMSI

53. Assertion: IgG is the most abundant class of
immunoglobulin in the body.

Reason: IgG is mainly found in Sweat, tears,
saliva and colostrum.

A) Both Assertion and Reason are true and
the Reason is correct explanation of the
Assertion.
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B) Both Assertion and Reason are true and the
Reason is not the correct explanation of
the Assertion.

C) Assertion is true; Reason is false

D) Both Assertion and Reason are false

Fammi: 1gG eTeTLIZ 2 L%l SH&HINMTS
& meoor 1L (BILD @ W, BeoTm& GermmL]edl 6ot
U & UIMGLD.

&SIJeooTD:  1gG  W&HWITE  alwyene,
sevoreoot 7, o OIPBT  mHmID  Foumey
G Weummlev smeorL IS MmSI.

A) oMl OMMID  &TJeoorld @ Teoor(hLD
Fifl; SMTIeurd Fammisamer &iflulmeor
alem& & INMGLD

B) MM MMILD &ITJeoorld @) Fevor(hLD
Fifl; &Myeorld Fammigsmer Fiflulmeor
aflems a0 |6V6V.

Q) Samml &Fifl; STFeooTD H6Um

D) GaMmm WMMID &TJ6eoorD @) F60oT(hLD
&H6UMITEOTEDI6.

54. Damage to thymus in a child may lead to
A) Loss of antibody mediated immunity
B) Reduction in stem cell production
C) Reduction in haemoglobin content of blood

D) Loss of cell mediated immunity

RO GYHhmssE gHUuGL S L6

LTS LiLleoTmev

A) apeoriaumy el GBITUISEmLSTLILI6
@wul gmu@LD

B) 6v0T(h QFL 2 MHLISH Gemmu LD

C) @Us555H60 afCLMGCeTTLI6T 366y
GemmuLd

D) Q&6 auldl GHTUI SHenL &ML @LoLiL]
JoOUGLD

16

55. Find the incorrect pair:
A) Aedes — Yellow fever
B) Xenopsylla — Plague
C) Phlebotomus — Kala azar
D) Culex — Malaria
SHEUMITEOT 3)60)600T60) UL 856007 Ll U6 LD
A) 1961V - LDEHF 6T SHITUIFEF 6V
B) Q&6TEBLILLFE - LNGCers
C) LDGOOT6L LLE T - HITeVIT S| & M
D) &6 - nGeurflwirm
56. Rejection of tissue is brought about by
A) Cytotoxic T-Cells
B) B-Cells
C) T-helper cells

D) Suppressor T-Cells

FladseT  BlrmTsflUusmHE&  &TIevorLnmeoT
Q&F L& 6T

A) &L GLMLTENNE T- QFLSH6IT
B) B- QF6V&6IT
O) T- 2.5 Q&F6L&6T

D) OILEH) T- QFLSH6IT

57. Which of the following is not a correct
statement regarding spleen

A) Spleen contains B cells and T cells
B) Spleen brings cell mediated immunity
C) Spleen is a primary lymphoid organ

D) It is located in the upper part of the
abdominal cavity
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L9l 6076 (1H 61 60T6U M M1 6V 613 LD 600T6001 [J 6V
QSMTLILITeT FIIWITET So MMl {606V

A) InevoTeoot Te0l6 B QF6L&H6T WMmMIn T
Q&F6LE6T & ITevor LiILI(h 8 60T m 6ot

B) LD 6DOT600 [J6V Q&FeveuLdl
GBMUUSMLSTLILI6 FF(H LB G 60T m 60T

C) LD6DoT600T 6L 62 (H (LN&6VIBlem6v Blevor Bl
9 _MILILILIMGLD

D) @& auwilmm &luflesr Goev LIGH ullev
OB SI6TETSI

58. Opium is obtained from which part of the
plant Papaver somniferum ?

A) Inflorescence
B) Male part (dried)

C) Seed (unripe)

D) Leave
Urliumey  GFMINESGLITID  &ITeUT S5 60T
6TH&LI LGN BHal eLwiLb
QUMUIUMSRmE?

A) 1DEH&Tf]

B) 24,6007 LIGH) (2_6V[HS)
Q) allens (LI(D&HEHTS)

D) @ emev

59. A person suffering from a disease caused by
Plasmodium experiences recurring chill and
fever at the time when

A) The sporozoites released from RBCs are
being rapidly broken down inside spleen

B) The release of merozoites and haemozoin
toxin into the blood stream

C) The merozoites penetrate the RBC’s from
liver cells

D) The microgametocytes and
macrogametocytes are being destroyed
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by the WBCs
LNeTmeruGumg g sy gmudmLD  Gimulmey
UM &SUULL @@ BUF Weor(ld Wetor(hLd
Gefly LnHmID HTUIFFm6V eIl

A @rss Falussseale  @GhHal
Qaueflim@d ervCUTCTmTCEFTUWIL (86T

LD 600T 6001 [T 61 &5 (& 61T Geuss 0TS
SWSsIUGILD CUMs!
B) LSGTmBaFmufL._ (&6 LOMMILD

aCLMEFTWIET HEFFHET @55 5H 60
QauefllL U@L CGumsL.

Q) &6veST6L  QFeGEENBHE UL
BSCrmCamuillH\&e6T QUHSHF
FaILILIETDI & &M TS &M ELIDELIMSI

D) enln&CITESHLAL GLMen& L (H&6TImMILD
CHEEIMCas L CLTem &L (b & 6T
QUss Q6U6TEm6IT 9| ) &5 6ITITEV
PGS LU DLEUMSI

60. Which of the following statements regarding
drugs are correct ?

(1) Cocaine is obtained from the latex of the
plant, Atropa belladonna

(i1) Heroinis obtained by acetylation of morphine,
which is extracted from flowers of the poppy
plant.

(ii1) Marijuana interferes in the transport of the
dopamine.

(iv) Charas is used as medicine to treat patients
with mental illness like depression and
insomnia

A) (i) and (ii)
B) (i) and (iv)
C) (ii) and (iii)
D) (iii) and (iv)
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GUTeMS LO(BIHSHIGH6IT QG ITL[FLIM6oT LI 6dTeu(HLD
FaDHmiserfley el Frflwmera?

() LGImUT QUGEVEVGLITETEOTIT  6T60TM
SIS S 60T DT LILIMeSl6d (b S G Tev) 85 60T
QUPLUILBSR M.

(i) QeI 60T, SFEHFT
Q&1quledT LL& 56160l (B 1H &)
N&0sM&sUUGSTm  ImFsLllemer
AP CoummId  QFUIEUSET  eneuLD
QuUMUILIGRMSI.

(iii) Loflegveumeotm GLTLI6emLD 60T
SLESLILB T GMISERHSHMmSL. .

(iv) &mFerv LOG6OT Q(WDSHSHLD LOMMILD
S5 610 60TemLD GuImedTm LD 60T
Gmmuwimerflasemer &eoor LB SSL
LweTUOSSLILGLD W@BHHSTESLD.

A) (i) LD oILD (i)
B) (i) LoMMILD (iv)
Q) (ii) LnMHmILD (iii)
D) (jii) LDHmILb (iv)
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